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1 f& i Ef 43 38 81 12.0 69.0
2 HRER 41 10 81 8.0 73.0
3 KHHZE 42 41 83 10.0 73.0
4 JEKE 42 42 84 11.0 73.0
5 TEFH AN 42 44 86 13.0 73.0
6 FEEE 38 43 81 6.0 75.0
7 PRHENIEZ 44 40 84 9.0 75.0
8 MAARFL 45 39 84 9.0 75.0
9 HRARREIL 45 43 88 13.0 75.0
10 /NEHLE 47 41 88 13.0 75.0
11 ZEFHK 45 44 89 13.0 76.0
12 HEES 40 37 77 0.0 77.0
13 WM& = 42 46 88 9.0 79.0
14 BATEH 47 43 90 11.0 79.0
15 =& HH i) 44 47 91 12.0 79.0
16 FEEZ 46 16 92 13.0 79.0
17 RIBFRAR 44 44 88 8.0 80.0
18 )%= 46 42 88 7.0 81.0
19 HHHEE 47 45 92 11.0 81.0
20 57 R 41 44 85 3.0 82.0
21 RS 42 45 87 5.0 82.0
22 FAIE 46 43 89 7.0 82.0
23 FESF 44 47 91 9.0 82.0
24 BEFR 48 43 91 9.0 82.0
25 A 51 42 93 11.0 82.0
26 VLA BERK 42 50 92 9.0 83.0
27 AARZ— 48 45 93 10.0 83.0
28 fESRHES 50 45 95 12.0 83.0
29 HAFE 49 47 96 13.0 83.0
30 FEHEIR 47 48 95 11.0 84.0
31 WO IERY 52 45 97 13.0 84.0
32 K[ BASE 46 44 90 5.0 85.0
33 FEREIEA 51 43 94 9.0 85.0
34 HEATFNE 52 45 97 12.0 85.0
35 TrHEE 49 44 93 7.0 86.0
36 dFi= 49 43 92| 5.0 87.0
37 FEEIR 50 53 103 12.0 91.0
38 FHif— 55 51 106 13.0 93.0




